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LIST I LIST II
(a) Reciprocal of 3 Q) 21—0
(b) ¢ x18 (if) 3
@k '
) 5+ (iv) 5
nx 0!

(vi) 2
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7 3 + 4y X+Y+2Z
13n 2a + 3C P2+ 9p + 4
-523 6x2 + 3Xy az - 2ab - b?

4absc? /pqar + pg? 3v2 - 2w + ab?®
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2X°+ X'+ 2y + 13

= 3X°+ 2y + 13

1) (3x" = 7a) +(3x" +4x] = 6x° - 3x

2) [2w2 +w—5) +[4w2+7w+1).—_ 6w’ + 8w —4

(3y? + 5y -6) + (7y?-9)
3y2+ 7y2+ 5y -6 -9
10y2+ 5y - 15

Solution:
10y2+ 5y -15

3x% +5x -3
+ x> =5x+1
4x* +0x—-2=4x* -2 ANSWER

3) (2&3+3a2+5a)+(a3+4a+3) =
30" +3a” +9a +3

4x* +3x-9
+ —=2x° +10
2x° +3x+1 ANSWER
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| EXAMPLE2 | : /\/ﬁ' / NWZ\\
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ey By -
2hx =Lbxy +10y TR EEEs-2)
3x°(x+5)
30 (x+5)= 3 (x) +32(5) 2
= Z3%%%'+ 3e5 > -(—5.\‘)°4x+(—3.\')~(—2)

-.-.3*34- |5y_" = -20x° +10x



308 B

Like Terms Unlike Terms
2,-5x bx,39
1 )
{L—{I by
: ).)
—-.1j1!:.8.1j1-': X7

WIS

Like terms

Unlike terms

2%, =X
—8x°, 3x°
3xy, —Txy

q i
sxy, 3y

%, 4x

2x, =Ty
~8x7, 3x
| 3xy, —Txz
%7y, 3xy

X, 4




Line

Ray

Perpendicular Lines

A
VYV

Parallel Lines

—

Intersecting Lines



ACUTE ANGLE RIGHT ANGLE OBTUSE ANGLE STRAIGHT ANGLE

Less than 90° Exact 90° Greater than 90° A
and less than 180° Exact 180

FULL ANGLE

s Lt Exact 360°

Greater than 180°
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45°

“ - 750 60°

Za+/b+2c=180°
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o 125°
50°
x 115°
(i) =
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35°
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Lines of Symmetry

4 lines of symmetry 2 lines of symmetry

2 lines of symmetry

' -

Rhombus

Iso:ctlet. Trapezoid

1 line of symmetry

Kite
1 line of symmetry

Fd

Parallelogram Equilateral Triangle
No lines of symmetry 3 lines of symmetry

Mo lines of symmetry

Trapezoid

Isosceles Triangle
1 line of symmetry
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Construction of Angle Bisector

A

0 {-’__: —E G !':' -E'

Step 1: Center O, radius less than OA Step 2: Center C, radius R

o
m

z -

Step 3: Center D, radius R Step 4: Connect O to intersected arcs
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Power

Exponent

Base

— ][0, [EN|[€3]E

0 %< 3¢ |00 (U




SSRICTAL® m@p 10 000
” o 1 000
2°=2x2 =4 100
2% = 2x2x2 = 8 10
2% = 2x2x2x2 = 16 1
2> = 2X2X2Xx2X2 = 32 0.1
2° = 2X2X2Xx2Xx2x2 = 64 0.01
2" = 2x2x2x2x2x2x2 = 128 0.001

g =
2" = 2X2X2X2X2X2X2X2 = 256 0.0001
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ama™ = ﬂm+n 2324 = 23+4 2'? 128
(@)= a™ (2} = 27t = 2% =4096
(aﬂ)” = a"h" (20)* = (2.10)° = 2°.10° = 8.1000 = 8000
(_)'ﬂ; = i - 3 23 8
& =513

E=ﬂm-n §_25—3_22_4

an 23 -

a” 1 2 3 3 3

g e, 25 2573 22 4
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mass of the E%‘l —
 5.9763 ¢ 707 kg

o

149 600000 km

Image Source: http:/ fwww.inguisitr.com

1.496 x 10°

149 600 000 has FOUR Significant Figures

Speed of Light
| ’ 150,000,000 kilometers
"y B 3
g | 300,000 km per second %5/

= 500 seconds
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2 - 3 4 |
x -5=10 - 3x x -5=10-3x x -5=10-3x x-5=10-3x
4x - 5=10 -5 =10 - 4x x =15 -3x -5=10-2x
4x =15 -15 = -4x 0=15 - 4x -15 = -2x
(=15 "__sz 4x =15 —_—15=x
x=$=3§ x=17,5:3%
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X I_M - 14 Let the number = x
PR R _+'5' = According to the condition
1
X+2x ~ —x =24
14 o see 2= 1410 i
10 4x-—-x 3x
=24 —=24
= 5x+ =140 = 7x =140 = Ty = 3
140
= I=T=2ﬂ =:=x=24x_—;- >x=8x4
- = x=32
x=20 -, Number = 32
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JToR0, W0, WIOT

155 155 158 164 168

Mode =155 -

Mean=160 @3,@)9:18,42

42-1 = 41
1+1+3+6+9+18+42 _ 80 _ 144
7

mode - 1 mean -11.4
median - 6 range - 41
outlier - 42

Median = 158
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SUM of EACH VALUE in a DATA SET
MEAN = AVERAGE R

T

17 + 19 + 20 + 20 + 61 + 61 + 62 260
T 1

=374

X=(X, +X,.... X )
1]
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Birthday of Students by Month

A 1 unit length = 2 students

8
S 6
2
4
=
Z 2-
0 >

Jan Feb Mar Apr May Jun Jul Aug Sep Oct Nov Dec
Month




Number of Students

40

30 -

20 -

10 S

] Number of Girls
B Mumber of Boys
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PERIMETER

Formulas
a b &
&
Cc
TRIANGLE SQUARE
a+b+c 4 x Side

=
=
Length

RECTANGLE CIRCLE
2 x Length x Width 2 x Radius x
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rectangular sphere
prism

-4

cylinder pyramid
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square rectangle circle oval

AOOO

triangle pentagon hexagon octagon

| cube sphere cylinder
rectangular prism ‘

cone pyramid
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3D shapes Faces Edges Vertices
cube 6 12 8
cubiod 6 12 8
s /N ’ ° ;
square pyramid r 5 8 5
cylinder ‘ | 2 2 5
sphere 0 0 0
triangular pyramid 4 6 4
— R
riangular prism
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Square Base Pyramid

Net 1 folds to
—

Triangular Pyramid







